Last Week Report
--Siqi Li



One Dimensional Fit Result

N_bkg = 6715 + 94
mh = 124.0 +1.7
mu_VBF = 0.96 + 0.70
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Involve BDT to Reduce Deviation

e | selected data with standard BDT>
0.6695

Cut efficiencies and optimal cut value

— — — Signal purity

Signal efficiency
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Cut value applied on BDTG output
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Improved 131.8%



Fit Failed

b4

1/N dN/dm

00}
o

IIII|IIII|IIIl|IIII|IIII|IIII|IIII|IIII|II

~J
o

60

50

40

30

20

N bkg= 0.0 +1.9

mh = 125.04 + 0.10
mu_VBF = 3.000 + 0.014
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Reason

e Correlation between myy and BDT is 18%
(Background)

Correlation Matrix (signal) Correlation Matrix (background)

Linear correlation coefficients in % Linear correlation coefficients in %
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Graph of myy Background (BDT>
0.6695)
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What to do next

e Edit variables in BDT to reduce the
correlation

e Do a two dimensional fit



Conclusion

* Filter out that we only need to consider

ele?

background with full simulation data

* Selected data
e Choose variables and put it in MVA

* Delete variables which have high
correlation value

e Triec
e Finis
e Tried

two dimensional fit and failed
ned one dimensional fit

to see if BDT can reduce deviation



Thank you~~



